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LSE-01: CELL BIOLOGY

Time : 2 Hours Maximum Marks : 50

Note : (i) Question No. 1 is compulsory.

(it) Attempt four questions from . No. 2 to
Q. No. 6.

1. (a) Fill in the blanks with appropriate words :

5

(6 microscope is used to observe
cell organelles in living cell.

(A1) e molecule links glycolysis with

TCA cycle.

(i11)) The synthesis of glucose from non-

carbohydrate source i1s known as

P.T.O.

(b)

(a)

(b)
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(AV) errrrrninnns and ............ are two major

contractile proteins in muscle fibre.

V) e, 1s a population of cells derived

from a single cell.
State one function of each of the following :
5
(i) Phloem
(1) Osteoclasts
(i11) Adenylate cyclase
(iv) Pseudopodia
(v) Thrombocytes

Discuss the role of various enzymes
involved in  DNA  replication in

prokaryotes. 5

Name the major macromolecules present in
a cell. Describe any one method of
separating these macromolecules from a

mixture. 5
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3. Draw labelled diagrams of any two of the
following : 5x2=10

()
(b)
(©

()

(b)
(©

(d)
(e)

()
(b)

Clover leaf model of t-RNA
Ultrastructure of chloroplast

A motor neuron

Comment upon the following statements :

2x5=10

More than one type of RNA polymerase is

required for transcription in eukaroytes.
Meiosis is a reductional division.

DNA synthesis on lagging strand is

discontinuous.
Lysosomes are ‘suicidal bags’ of the cell.

Mitochondria are semiautonomous

organelles.

Explain the following with suitable examples :

5x2=10
Hormonal regulation of enzyme activity

Proton pump

P.T.O.
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Name the various components of spindle
apparatus and describe their role in
chromosomal movements during cell
division. 5
Discuss the functions of vacuoles in plant

cells. 5
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